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Note: Answer the questions as per the instructions given

for each section.

SECTION A
(Long Answer Type Questions)

Answer any two questions from this section in about
500 - 600 words each. 2x20=40

1. How does the food scarcity impact human capital
formation ? Increasing agricultural development
would need additional R and D efforts to sustain
the growth of both agriculture and industry.
Why ?
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2. What were the two basic motives behind the
collection of land revenue from the agricultural
class by the British ? What was the approach
adopted for the realisation of these objectives ?
What were the basic units of revenue
assessment under the Zamindari and the
Mahalwari systems ? As compared to these two
systems, under the Ryotwari system, what were
the basic rights conferred on the ‘Ryot tiller’ ?

3. What are the major planks of tenancy reforms ?
State the circumstances under which permitting
of ‘termination of tenancy’ was sought to be
allowed. What factors contributed to poor
performance of the implementation of ceiling on
‘land holding laws’ ?

4. State the different connotations of ‘market’ and
the various functions of an agricultural market
in its modern context. What are the special
characteristics of agricultural marketing which
distinguish it from other markets ? What is
AGMARKNET ? How is it beneficial to farmers ?
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SECTION B
(Medium Answer Type Questions)

Answer any four questions from this section in about
250 words each. 4x12=48

5. What did Daniel Thorner mean when he termed
the prevailing agrarian situation during the last
years of British period as ‘built-in-depressor’ ?
What was the net effect on the growth of Indian
agriculture during 1900 — 1940 ?

6. What are the reasons advanced for the continued
importance of agriculture even at the current
juncture ? Explain.

7. What are the different areas in which focused
efforts are needed in order to reap the maximum
potential of ‘emerging agriculture’ ? Do you
agree that ‘diversification of agriculture’ is an
essential ‘principle of optimal utilisation’ ?

8. In what way is the use of biotechnology (BT)
methods considered more beneficial ? Why is it
that its adoption has still not taken off in India ?

9. Mention the four objectives of PDS. In what way
is the PDS supposed to provide ‘food security’ to
the poor ?

10. Do you think India would gain by agricultural
trade if the WTO regulations are applied in a
free and fair manner ? Why ?
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SECTION C
(Short Answer Type Questions)

Answer any two parts from this question in about
100 words each. 2x6=12

11. (a) Which type of soil is well suited for
growing : (i) tea, coffee and rubber; and
(i) coconut and cashew nuts ? In which
State(s) are these types of soils found ? Are
saline/alkaline soils good for crop
cultivation ?

(b) Mention the four factors which contribute to
soil erosion. Indicate which of them are
man-made.

(¢c) Besides rainfall, which other factors
contribute to differences in cropping pattern
over the different regions.

(d) Mention the problems relating to water
resources.
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